BK Sekvens, S-torp
Seniorbridge hcp/scratch 24 maj 2021-05-24

Partavling, 7 bord, 14 par. Antal brickor: 26. Medel: 156.0.

Plac Par Poéang % Namn MID Klubb
1 10 183.7 58.89 Goran Ekblad - Bjorn Persson 79566 25070 Staffanstorps BK
2 1 183.6  58.84 Birgit Morawetz - Inger Hossmark - 33420 Staffanstorps BK
3 13 178.7  57.29  Ulla-Britt Hansson - Karin Hellstrém 27459 36739 Lunds BK
4 2 174.3 55.88 Annemarie Ritzau - Majvi Pahlsson 81989 78818 Staffanstorps BK
5 12 172.1  55.18 Torsten Sivermark - Christer Bergman 67281 67276 BK Sekvens, S-torp
6 14 155.9 49.96 Ann-Britt Ingerheim - Lisa Engstrom 81755 38035 Svedala BK - SPF Club 230
7 3 155.8 49.92  Annika Ekstrom - Sven Persson 56268 78393 Dalby BK - BK Sekvens, S-torp
8 7 155.0 49.69 Monica Gilhorn - Anita Martinsson 82790 38033 BK Bridgehuset - Staffanstorps BK
9 8 151.5 48.56  Bertil Palm - Arne Engquist 40704 91786 Staffanstorps BK
10 9 147.1  47.15 Arne Blomqyist - Lise Blomqvist 54400 54401 Staffanstorps BK
11 11 1446  46.34 Kjell Lindblad - Margareta Lindblad 65594 58494 BK Sekvens, S-torp - SPF Club 230
12 5 132.1  42.35 Per-Olof Olehn - Christina Leander 5099 30482 BK Bridgehuset - Malm6 BK
13 4 125.7  40.30  Gunvor Frid - Ulla-Britt Fransson 33411 37472 Staffanstorps BK
14 6 123.7  39.65 Rolf Mdller - Ingmar Olsson 12909 53576 Lomma BK - Staffanstorps BK
1 41094 Basta kontrakt 2 & Kn982 Basta kontrakt 3 4 Kn1098632 Basta kontrakt
Nord vKn10742 24 N =110 Ost v EK983 6NT N = 1440 Syd v9 74 S D -6-1400
Ingen ¢E4 NS +KD ov ¢ 542
#E93 & ¢ v & NT #K6 & ¢ v & NT «D2 & ¢ v & NT
4 E32 4 K76 N56 886 4103 4764 N 7 8 121212 4E5 a- N20171
vD3 v K86 S 56886 v D107 v 64 S 7 7 11118 vKn643 v EKD87 S20171
+ Kn32 ¢+ D1076 07755686 ¢ Kn10532 ¢ 976 055111 ¢+ KKn76 ¢ E1093 O 1113126 12
#K10864 #D72 V775586 #982 #EDKn74 V55111 *EK4 #9865 V 1113126 12
& DKn85 « EKD5 «KD74
vE95 v Kn52 v 1052
+ K985 +E84 + D8
#Kn5 #1053 #Kn1073
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
13 14 2y N+1 #Q 140 120 00| 3 4 4y N+2 #A 680 120 00(10 6 6vy O-1 &K 100 120 0.0
3 4 INS+1 4 120 100 20| 1 2 4vy N+1 &A 650 80 40| 7 4 5v0= oK -650 9.0 30
7 8 2vy N= +Q 110 80 40| 7 8 4y N+1 @#A 650 80 40(13 9 4v0O+1 «K -650 9.0 3.0
1 2 Pass 50 7.0(11 12 54 S= 2 650 80 40| 3 2 4vyV+2 4] -680 6.0 6.0
11 12 Pass 50 70| 5 6 44 S= *2 620 30 90|14 12 3NV+3 &3 -690 40 8.0
5 6 INN-1 &2 -50 20 100( 9 10 44 S= +J 620 30 90| 5 1 6vV= L) -1430 1.0 11.0
9 10 2NO= a5 -120 0.0 12.0(13 14 3NN= +9 600 0.0 120 8 11 6y V= 48 -1430 1.0 11.0
4 4 7653 Bésta kontrakt 5 « ED9732 Bésta kontrakt 6 410973 Bésta kontrakt
Vast v K53 4y V =-620 Nord v E987 54 O D -2 300 Ost v 653 5¢ O =-650
Alla + EK104 NS 4832 ov + D109
#96 & ¢ v & NT »- & ¢ v & NT #853 & ¢ v & NT
4EKN109 &D4 N6 4344 4Kn 41054 N 4 9 10106 484 4 Kné NO2O051
vEKn1087 vD96 S 6 4344 v54 v KDKn S 4 9 10106 vEKKn104 vD2 S020651
+ D63 ¢ Kn95 O 7 8 109 8 ¢+ DKn4 ¢ 1097 091234 +3 ¢ EK7642 O 1110117 8
8 #ED752 vV 7 8 109 8 #EDKn8654 #K1092 V9223414 #109762  #EKKn V 1110117 8
&~ K82 & K86 &« EKD52
v42 v 10632 v 987
¢ 872 + EK65 + Kn85
#KKn1043 *73 «D4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
13 9 4v V-2 +A 200 120 0.0{10 1 44 N= vK 620 11.0 10| 6 13 3¢ O-1 4A 100 12.0 0.0
5 1 4v V-1 +A 100 100 20|12 9 44 N= &K 620 11.0 10(12 9 3¢ O= 4 A -110 10.0 2.0
7 4 3vyV+l eA -170 70 50| 6 13 54DV-2 vA 300 80 40| 7 3 3¢ 0+1 aA -130 50 7.0
14 12 3v V+1 +A -170 70 50(11 4 34 N+1 K 170 6.0 6.0(10 1 4¢ 0= s A -130 50 7.0
3 2 4v V= ¢A -620 20 100(14 8 54V-2 &A 100 40 8.0(11 4 3¢ O+1 4A -130 50 7.0
8 11 4v V= ¢ A -620 20 100 5 2 4a4V-1 ©vA 50 1.0 11.0|14 8 3¢ O+1 &A -130 50 7.0
10 6 4v V= +K -620 20 100 7 3 54V-1 vA 50 10 110| 5 2 34S-4 ©vA -200 0.0 12.0
7 & EKn7 Basta kontrakt 8 # EKn103 Basta kontrakt 9 # KKn1053 Basta kontrakt
Syd v 109842 5NT S =660 Vast v Kn85 ANT N =430 Nord vE93 7NT N =1520
Alla +E9 Ingen + D9 ov +74
#652 & ¢ v & NT #KKn106 & ¢ v & NT #ED9 & ¢ v & NT
4 K982 41063 N 108 118 11 4 K9 442 N 107 8 1010 497 4« D642 N 109 131213
v76 vE53 S 108 119 11 v10763 vKD9 S 107 8 1010 v2 v D87 S 109 131213
¢854 #Knl0762 O 3 5 2 4 2 46532 ¢ KKn84 026522 4108652 ¢ KKn9 023010
#K874 #Knl0 V35242 #E53 #9874 V26522 #108763 #542 V23010
D54 4 D8765 +~E8
v KDKn vE42 v KKn10654
+ KD3 + E107 + ED3
#ED93 «D2 *KKn
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
11 3 3NS+2 a2 660 110 10|13 1 44 S+1 #A 450 120 00| 1 12 6NDS= v2 1230 120 0.0
13 1 3NS+2 42 660 11.0 1.0(10 5 44 S= v7 420 100 20(13 5 6vy S+l +6 1010 100 2.0
10 5 3NS+1 a2 630 80 40| 9 8 24S+3 3 200 70 50(10 2 6y S= 8 980 8.0 40
4 14 4v S= a2 620 6.0 60(11 3 34S+2 7 200 70 50| 8 6 4vS+2 2 480 50 7.0
9 8 INS+4 a2 210 30 90| 4 14 34 S+1 v6 170 20 100 9 4 4vS+2 2 480 50 7.0
12 6 INS+4 a2 210 30 90| 7 2 24 S+2 #A 170 20 100|214 3 44 N+1 9 450 2.0 10.0
7 2 3¥yN+2 +¢6 200 0.0 120(12 6 34 S+1 3 170 20 100(11 7 6NS-1 &7 -50 0.0 12.0
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10 4 EKn10983 Basta kontrakt 11 oD Basta kontrakt 12 4 Kn1053 Basta kontrakt
Ost v 104 34 S =140 Syd v 9543 ANT S =430 Vast v DKn6 3NT V =-400
Alla +9 Ingen + EKn8754 NS + Kn65
#7542 & ¢ v & NT «D8 & ¢ v & NT 2982 & ¢ v & NT
462 a74 N6 44097 498432 4 Kn65 N8 8 8 8 10 4« K9 46 N3 3384
vKn95  vED872 S 64497 v EK v D862 S 888 8 10 v 842 v E1095 S33384
¢ 8542 ¢+ KD63 06 77 45 +3 + D1096 054553 ¢ ED3 410842 0109 9 5 9
#EKKN9 #D8 V67745 #E9632 #75 V54553 #DKn1075 #EKG63 vV 109 9 5 9
4« KD5 & EK107 « ED8742
v K63 v Kn107 v K73
¢ EKn107 + K2 + K97
#1063 #KKn104 *4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 6 4v 0-2 +A 200 120 0.0(14 7 2NN+2 &J 180 120 0.0(14 7 5&V-2 4] 100 120 0.0
10 2 34 N+1 oK 170 100 20| 8 1 2NS= 3 120 90 30| 3 9 3v0O-1 #4 50 9.0 3.0
13 5 34 N= ¢+K 140 70 50(12 5 2NS= a2 120 9.0 30(13 10 44V-1 & 50 9.0 3.0
14 3 34 N= vA 140 70 50 6 4 3NS-1 #A -50 50 7012 5 34S-1 2Q -100 6.0 6.0
112 2v0-1 +A 100 30 90|13 10 3NS-1 49 -50 50 70| 6 4 3aV= L) -110 40 8.0
9 4 2v0-1 +A 100 30 90| 3 9 3NS-2 49 -100 10 11.0| 8 1 4eV= L) -130 1.0 11.0
11 7 44 N-2 ©vA -200 00 12011 2 3NS-2 &2 -100 10 11011 2 4«V= L) -130 1.0 11.0
13 48763 Bésta kontrakt 14 4 K3 Bésta kontrakt 15 483 Bésta kontrakt
Nord vD6 3¢ N =110 Ost vE732 3NT S =400 Syd v D542 6NT O =-990
Alla ¢ KKn9543 Ingen + KKn3 NS ¢ 942
+D & ¢ v o NT #DKn109 & ¢ v & NT #E875 & ¢ v & NT
«KDKn4 4952 N49 656 476 D842 N9 7999 & E52 « KDKn96 N14611
v K105 v 9843 S49656 v 854 v Kn109 S97999 v EK8 v93 S14611
2 ¢E76 083676 ¢ E95 ¢ D10872 046 344 +108 ¢ ED53 O 128 7 1212
#109632 #EKn8 V83676 #EK763 #4 V46344 #KKn962 #D4 vV 118 7 1111
«E10 « EKn1095 1074
v EKn72 v KD6 v Kn1076
+ D108 ¢ 64 + KKn76
*K754 852 #103
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 8 3¢ N+1 49 130 120 0.0(14 11 3NN= vJ 400 120 00| 7 6 2v0O= +6 -110 120 0.0
13 2 INS+1 &K 120 100 20| 6 3 INS+4 &K 210 100 2.0 9 11 24 O+3 T -200 100 2.0
9 7 1lvS= a4 80 80 40(13 2 24V-4 K 200 80 40(12 13 44 O= +J -420 8.0 4.0
4 1 3¢ N-1 42 -100 50 70 5 8 24S+1 #K 140 6.0 6.0 1 3 44V+2 #A -480 50 7.0
14 11 2NS-1 &K -100 50 70| 4 1 INN+1 7 120 40 8.0(14 2 54 V+1l &A -480 50 7.0
6 3 3NS-2 &K -200 1.0 11.0|12 10 24 S= 2A 110 20 100 4 5 3NV+3 &5 -490 2.0 10.0
12 10 24 N-2 v9 -200 10 11.0| 9 7 INN-1 7 -50 0.0 120 8 10 6NV = *A -990 0.0 12.0
16 4 DKn654 Basta kontrakt 17 48632 Basta kontrakt 18 » 106 Basta kontrakt
Vast v K108 5NT N =460 Nord vKD 4v O D -1100 Ost v Kn108 6NT O =-990
oV +Kn4 Ingen + ED6543 NS + D10653
#K52 & ¢ v & NT *2 & ¢ v & NT #D92 & ¢ v & NT
92 » K83 N6 116 1111 4 EKn «D10 N6 8495 « EDKn4 & K9853 N13111
vE9632 vD74 S 6 116 1111 vE10975 vKn863 S 68495 vKD75 vE2 S13111
410973 +6 06 2612 41098 ¢ K72 065947 + KKn ¢E2 O 129 121212
«109 #EKN8764 V 7 2 6 1 2 #1085 *E964 V65947 #1065  #EK83 V 1210121212
«E107 « K9754 a72
v Kn5 v42 v 9643
+ EKD852 ¢+ Kn 49874
+D3 #KDKn73 *Kn74
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
7 6 24 N+4 ¢6 230 120 00| 9 14 3v V-2 +A 100 120 0.0(12 2 740-1 ¢4 50 120 0.0
1 3 2¢ S+3 &T 150 90 30| 3 5 Pass 90 30| 1 7 540+1 &4 -480 8.0 4.0
8 10 3¢ S+2 ©vA 150 9.0 30| 8 13 Pass 9.0 30| 8 13 44 0+2 v4 -480 8.0 4.0
12 13 24 N+1 #A 140 6.0 60 1 7 34S-1 ©vA -50 50 70(10 4 44 0+2 9 -480 8.0 4.0
4 5 3¢ S+1  &T 130 30 90| 6 11 44 S-1 48 -50 50 70| 9 14 44 O+3 &J -510 40 8.0
9 11 3¢ S+1 &9 130 30 9012 2 44S-2 ©vA -100 20 100 3 5 64 0O= a7 -980 1.0 11.0
14 2 3NN-3 &7 -150 0.0 12010 4 3NN-3 v¥6 -150 0.0 120| 6 11 64 O= a2 -980 1.0 11.0
19 «D Bésta kontrakt 20 & E8532 Bésta kontrakt 21 + 1062 Bésta kontrakt
Syd vE8753 34 SD-1-100 Vast v EDKn 44V =-130 Nord v Kn97 4v O =-420
oV ¢ 32 Alla + Kn65 NS + 986
108653 & ¢ v & NT *75 & ¢ v o NT *D754 & ¢ v o NT
& EKKN97 443 N8 6 755 «K107 4Kn96 N389 77 4K973  &Kn4 N8 8 376
v 1094 v D62 S86 755 v6 v 9843 S38977 vED832 vK1064 S88376
¢54 ¢ ED987 O5 7678 ¢K832 +74 O 104 4 5 5 ¢+ KD10 #Kn43 O5 5 106 6
#KKn9 *742 vVa7T7477 #EK843 #DKn62 V 104 4 5 5 #Kn #10632 V 55 106 6
+ 108652 «D4 « ED85
v KKn v K10752 v5
+ KKn106 + ED109 ¢ E752
*ED «109 #EK98
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 7 2NN= +8 120 120 00| 5 7 4v S= *A 620 120 00| 1 14 4v V-1 #Q 50 11.0 1.0
6 14 INN= ¢7 90 100 20| 6 14 3v S+1 #A 170 90 30| 5 11 3vV-1 &5 50 11.0 1.0
4 13 14 S-1 ¢5 -50 6.0 6.0 9 2 3y S+l #A 170 90 30 6 9 24N-1 K -100 8.0 4.0
8 12 INN-1 +A -50 6.0 60| 8 12 INS+1 8 120 6.0 60| 4 12 3v V= oT -140 50 7.0
9 2 1aS-1 ¢4 -50 6.0 6.0 3 10 4vS-1 #A -100 40 80(13 3 2vV+l &4 -140 50 7.0
3 10 2NS-2 T -100 10 11.0| 4 13 3vyS-2 #A -200 10 11.0| 7 10 2¢v V+2 T -170 1.0 11.0
11 1 INN-2 +9 -100 10 110|11 1 4vS-2 #K -200 10 11.0| 8 2 2¢vV+2 T -170 1.0 11.0
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22 a7 Basta kontrakt 23 4 Kn1052 Basta kontrakt 24 4 Kn7643 Basta kontrakt
Ost v 975 4¢ S =130 Syd vE9 2NTV =-120 Vast v 96 3¢ VD-1100
ov + KD65432 Alla +10963 Ingen ¢ E92
#DKn & ¢ v & NT #KD8 & ¢ v & NT «KD10 LI A S
« EK4 4 Kn96 N 3 104 8 6 D63 « E987 N46 754 «ED8 4 K2 N9 487
vKnl0832 v D64 S 3 104 8 6 vKKn65 v7 S46754 vD74 v 852 S9487
+10 ¢ Kn7 09 3854 ¢+ D74 ¢+ E82 0966 8 8 ¢ DKn1086 ¢ K7543 03854
#EK82 #109743 V93854 »753 #EKn1094 V 9 7 6 8 8 *97 #E85 V 3844
4 D108532 « K4 #1095
vEK vD108432 v EKKn103
¢ E98 ¢ KKn5 .-
#65 *62 #Kn6432
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
4 12 4¢ N= v4 130 11.0 10| 6 2 2v N= 2A 110 118 02| 7 13 34 N= o7 140 11.0
8 2 3¢ N+1 v4 130 110 10 1 9 240= ¢+5 -90 95 25|10 11 14 N+2 ¢5 140 11.0
5 11 24 S-1 T -50 70 50| 3 12 1vS-1 43 -100 60 60 1 9 3¢V-1 9 50 6.0
6 9 34S-1 &K -50 70 50| 4 8 1laN-1 v7 -100 6.0 60| 3 12 3¢V-1 v9 50 6.0
1 14 34 S-2 2A -100 30 90(14 5 INV+1 T -120 25 95|14 5 3¢ V-1 v9 50 6.0 .
13 3 34S-2 K -100 30 9010 11 2NN-3 49 -300 0.2 118 4 8 Pass 2.0 10.
7 10 34 S-3 @A -150 00 120 7 13 A=/A= 60 60| 6 2 44 N-1 ¢K -50 0.0 12.
25 487642 Bésta kontrakt 26 & Kn10952 Bésta kontrakt
Nord v 65 5v O =-650 Ost v 1084 4ANT O =-630
ov ¢ Kn1064 Alla ¢ Kn76
*K4 & ¢ v & NT *KD & ¢ v o NT
& KKn 4 E10953 N65211 4 EK « D84 N3 2653
vEDKn1032 vK S65211 vD5 vE76 S32653
¢ E32 ¢ D75 07 7 119 10 + D108 ¢ E9532 O 10117 7 10
*52 #Kn1087 vV 7 7 118 10 #1098763 #E5 V 10107 7 10
«D 4763
v 9874 v KKn932
+ K98 ¢+ K4
#ED963 #Kn42
Par Kontr ut Res Poang Par Kontr ut Res Poang
1 6 3¢V-2 &K 200 120 00| 3 8 2NO-1 3 100 12.0 0.0
3 8 3vV-1 a2 100 80 40| 5 9 3¢0= a7 -110 80 40
4 2 2vV-1 K 100 80 40(10 14 3¢ O= vK -110 8.0 4.0
10 14 44 O-1 #A 100 80 40|12 7 3¢ 0= v9 -110 8.0 40
12 7 2v V= &4 -110 40 8011 13 2NO= v2 -120 4.0 8.0
5 9 2vV+l &K -140 10 110| 4 2 3¢ O+2 3 -150 20 100
11 13 2v V+1 &4 -140 10 110| 1 6 3NO+2 ¥3 -660 0.0 120
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